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PART I - Short Answer Questions	

1.	In ABC points G, H, and I are midpoints of the three sides of the triangle. Fill in the blanks.	
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	[image: ]
	A.	___________ is an altitude from vertex B.
B.	___________ is a median from the vertex C.
C.	DA is a/an ___________ from vertex A.
D.	AH is a ___________ from vertex A.




2.	Choose the correct option and complete the statement.	
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A.	In a right-angled triangle one of the angles should be ____________________ (90°/60°).
B.	The side opposite to the right angle in a right-angled triangle is called the ____________________ (hypotenuse/perpendicular).
C.	An equilateral triangle ____________________ (can/cannot) be a right-angled triangle.
D.	The sum of the length of the perpendicular and the base of a right-angled triangle should be ____________________ (greater/smaller) than the hypotenuse.

3.	A 20 cm × 10 cm paper is cut as shown in the figure. Which shape has a larger perimeter?	
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	Shape A	Shape B
[image: ]

4.	Use the Pythagoras Theorem to prove that a triangle with sides 9 cm, 12 cm, and 15 cm is a 
         right-angled triangle.                                                                                                                                          
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5.	Solve:  8(X -3) – 3(2X -7) =  2(2-3X)	
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6.	Use the figure to find the value of a, b, c and d.	
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PART B:  Long Answer Questions:
7.	The light shining out of a lighthouses 11 km tall can throw	
light up to 60 km  Find the distance of a boat from the top of the .light house  which is 60 km away from the base of the light house.
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8.	Find the area of the following figures:.	
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A.	[image: ]			                          B.	[image: ]
BD = 12 cm,  A and C are equidistant                      The sides  are 12 cm and 5 cm
From BD at a distance of 5 cm	EG= 12 cm


9.	Find the area of the following shapes:.	
4
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